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We're ready for WP#1 #s 1 - 3, and the Bonus on the limit of a quadratic.

Crystal growth furnaces are used in research to determine how best to manufacture crystals used in electric components.
For proper growth of a crystal, the temperature must be controlled accurately by adjusting the input power. Suppose the
relationship is given by

T(w) = 0.1w? + 2.153w + 20,
where T is the temperature in degrees Celsius and w is the power input in watts.

(a) How much power is needed to maintain the temperature at 202°C? (Round your answer to two decimal places.)
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Recall the Factor Theorem?
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The only way for a limit to exist when the denominator is approaching zero is if the numerator
also approaches zero.
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Section 1.8

Use the graph to determine the x-values at which fis discontinuous. For each x-value, determine whether f is continuous
from the right, from the left, or neither. (Enter your answers from smallest to largest.)
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Jump Discontinuity at x =7, Removable Discontinuity at x = 5.
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